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Transport removes the hindrance of ___________

(a) Time  (b) Place  (c) Personal  (d) Knowledge

Air consignment note is prepared in ________ forms.

(a) One  (b) Two  (c) Three  (d) Four

______ is a document acknowledging the receipt of goods by a carrier.

(a) Waybill  (b) Consignment note  (c) Charter party  (d) Bill of lading

Which is the fastest means of transport?

(a) Rail  (b) Road  (c) Sea  (d) Air

Way bill is issued by _____________

(a) Railways  (b) Shipping company  (c) Lorry  (d) Airways

International trade owes its growth to ___________

(a) Ocean Transport  (b) Rail Transport  (c) Road Transport  (d) River Transport

Pipelines are used for the movement of ____________

(a) Gas  (b) Petrol  (c) Water  (d) All of these

If the Railway receipt is lost, the consignee obtains the goods by ____________

(a) Paying a Penalty  (b) Obtaining a duplicate copy  (c) Executing an indemnity bond  (d) Report to the police

_________ constitutes the predominant form of rural road transport in India for goods traffic.

(a) Pack Animals  (b) Bullock Carts  (c) Motor Lorries & Buses  (d) All of the above

Transport suited for carrying heavy and bulky goods over long distance is ____________ 

(a) Motor lorry Transport  (b) Railway Transport  (c) Bullock carts  (d) All of them

The first Monorail was invented in ___________ 

(a) 18th Century  (b) 19th Century  (c) 20th Century  (d) 21st Century

The liability of common carrier is governed by_________________

(a) Carriers Act  (b) Goods Act  (c) Goods and Services Act  (d) None of the above

The person who hires the ship for transfer of goods is known as __________________

(a) Charter  (b) Consignor  (c) Drawee  (d) Transferor

______is an acknowledgement of receipt of goods for transport by the carrier.

(a) Carrier bill  (b) Receipt  (c) Bill of Lading  (d) Way bill

Which one is not land transport?
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(a) Pack animals  (b) Bullock cart  (c) Tramways  (d) Liner

Which one of the following is covered under Land Transport?

(a) Liners  (b) Tankers  (c) Pack animals  (d) Tramps

In which year, cycle and rickshaw were introduced in the world?

(a) 1850  (b) 1847  (c) 1972  (d) 1867

The first railway line was opened to traffic between______.

(a) Mumbai-Chennai  (b) Chennai-Kolkatta  (c) Mumbai-Thane  (d) Delhi-Chennai

Transport creates________ and ______ utilities.

(a) consumption, commodity  (b) place, time  (c) place, form  (d) value added, possession

Transport is an integral part of _______.

(a) agriculture  (b) business  (c) commerce  (d) production

By enabling mass production, transport helps in ________.

(a) introducing factory system  (b) reducing cost of production  (c) mass consumption

(d) increasing profits of consumers

_______ are the predominant form of rural road transport in India.

(a) Bullock carts  (b) Camels  (c) Roadways  (d) Horse

The credit of revolutionising the road transport goes to_______.

(a) pack animals  (b) motor vehicles  (c) tramways  (d) railways

The greatest merit of motor transport is ________.

(a) cheapness  (b) flexibility  (c) speed  (d) carrying capacity

_______ form of land transport is most suited for short distance.

(a) Railways  (b) Tramways  (c) Tramps  (d) Motor transport

________ are the cheapest and the quickest means of transport for carrying heavy goods overlong distance.

(a) Roadways  (b) Railways  (c) Ships  (d) Aeroplanes

Rivers that are naturally navigable are called _______ water ways.

(a) artificial  (b) inland  (c) natural  (d) ocean

_______ carries goods smoothly due to the absence of shaking and jotting.

(a) Railways  (b) Motor vehicles  (c) Trams  (d) River or canal transport

________ carry a small amount of cargo.

(a) Tramps  (b) Liners  (c) Containerships  (d) Tankers

__________carry large quantities of cargo and a limited number of passengers.

(a) Liners  (b) Cargo Liners  (c) Tramps  (d) Containership

Tramps are ______ vessels.

(a) passenger  (b) cargo  (c) cargo and passenger  (d) all the above

______ cargo vessels have no set routes.
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(a) Liner  (b) Passenger liners  (c) Tramps  (d) Bulk carriers

Tankers carry ________

(a) crude oil  (b) petrol  (c) petroleum products  (d) all the above

_________ is the fastest and the costliest mode of transport.

(a) Railway  (b) Motor vehicles  (c) Air transport  (d) Ocean transport

During natural calamities,_________ is the only mode of transport which can provide necessities to people.

(a) Motor vehicles  (b) Air transport  (c) Ocean transport  (d) Common carrier

Waybill is issued by_______.

(a) railways  (b) shipping company  (c) lorry  (d) airways

Bill of lading is issued by _______.

(a) the shipping company  (b) lorry transport  (c) railways  (d) consignor

The person who hires the ship is known as________.

(a) charters  (b) charter party  (c) vessels  (d) consignor

_____ defines the transport system acts with reference to the area it serves in the someway as a candle does in a dark room.

(a) J.K.Mitra  (b) K.K.Sexena  (c) S.S.Gubshan  (d) Y.K.Bhushan

Land transport is also called as __________.

(a) surface transport  (b) air transport  (c) water transport  (d) none of these

Pathways transport are used by ____________ for transport.

(a) animals  (b) donkey  (c) elephant  (d) human beings

There are _____ types of railway trade in operation.

(a) 2  (b) 3  (c) 4  (d) 5

______ largest railway organisation in the world.

(a) Indian railways  (b) China railways  (c) USA railways  (d) UK railways

The first bullet train system begal operation in _______ in 1964.

(a) Japan  (b) China  (c) India  (d) The USA

_______ is signed by the captain of the ship.

(a) dock receipt  (b) airway note  (c) delivery order  (d) bill of lading

Airways note is made out of  ______ original parts.

(a) 3  (b) 2  (c) 5  (d) 4

The invention of steam engine was by ______.

(a) James watt  (b) Gopal  (c) P.K.Ghosh  (d) Mohini Sethi

Tramways transport comes under the _____.

(a) Land transport  (b) Water transport  (c) Air transport  (d) None of these

______ is a Mass Rapid Transport System.

(a) Metro Rail  (b) Mono RaiI  (c) Bullet train  (d) pipeline transport
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_______ is also a document of title of goods.

(a) Way of Bill  (b) Railway Receipt  (c) Bill of Lading  (d) Airway Note
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